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HRAMEYORIGE-FTEEDHER (BI40E~SH2E)

H#
(m®)
S40 S50 S60 H25 H26 H27 H28 H29 H30 R1 R2
e EESE 33,750 21,717 12,680 647 669 599 492 465 404 264 200
RS MAS 6,106 44,090 80,486 14,430 14,213 13,398 11,707 12,527 10,750 10,099 9,726
= A 39,856 65,807 93,166 15,077 14,882 13,997 12,199 12,992 11,154 10,363 9,926
E=Eg HEE 39,856 65,807 93,166 15,077 14,882 13,997 12,199 12,992 11,154 10,363 9,926
S fanh= - - - - - - - - - - -
GE) BAEROREFR2EFARERBRERICIVER. B RET
(m3) 44
100,000
90,000 Tlﬁ/?_%l
80,000 | HMAZ|| Z
70,000 |
60,000 |
50,000 |
40,000 |
30,000 |
20,000 |
T NETH
10,000 F
i B RN AN
S40 S50  S60 H25 H26 H27 H28 H29 H30 Rl  R2
7N T
1)
S40 S50 S60 H25 H26 H27 H28 H29 H30 R1 R2
e HESE 593,113 70,412 32,255 22,528 20,880 18,210 17,180 16,468 15,233 14,840 13,396

BAZE 3,277 19815 6,684 148,962 159,136 165,917 154,227 149,723 = 99,527 99,184 87,344

HikE 596,390 90,227 38,939 171,490 180,016 184,127 171,407 166,191 114,760 114,024 100,740

EEg JBEE 596,356 90,201 38,788 170,993 178,260 183,291 170,791 165,670 114,318 113,564 100,289
mEE BHE 34 26 151 497 1,756 836 616 521 442 460 451

GE) 1.7Mx, MRET. B RET
2. BT EROBIEIZH28(2021 B R2ESRAMEERERICKYESR.

X

e

(t)

700,000
600,000 | ——
500,000 |
400,000

300,000 |

200,000 AR
i HEE
L 100
0 0
H29 H30 R1 R2

S40 S50 S60 H25 H26 H27 H28
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SO _HEERNMIEDHEFE (RBi40E~SF245F)

(M/kg)
IH H S40 S50 S60 H25 H26 H27 H28 H29 H30 R1 R2

LU= 2,056 3,381 4,237 1,413 2,079 3,521 4,042 3,736 2,948 1,958 1,863 ikl
LWLV - 850 1,114 979 1,024 1,031 1,052 1,048 968 949 955 %2
T 667 762 689 343 401 425 457 455 452 435 422
ZDET=1F - 589 610 243 250 260 235 204 219 207 251
[03=Y =¥ 518 765 795 390 404 495 530 686 614 664 704 %
Sl - - - 457 449 443 421 419 439 433 453
FN=IT - - - 652 684 648 722 762 912 943 859
Rl JAVE - - - 504 509 477 513 539 542 549 538
E3@) b 1,591 8,413 15,076 33,208 30,609 26,243 22,467 66,607 35,351 58,553 21,652

GE) 1.5 LU= F &L A& DM #E T, S40,50,604F (LR - 556 - 18 7 - KB,

H25%F LARE (LBRIR, 3% DB TS0 EFHIEIE D F.

3.540,50,60FE DUV IFIFSHELOLNEFENLTNS.

R AET

(BEZL UMz (T LA O fliA% [ R R o L ENFE 35 O 4 S 19 fli4%.) 4.8 S A B B ATl A
2B EROMEFR2EFAREERERICKVER.
(F1/ke) g LUV=IF (F3/ke) ELLV=T
5,000 1,500
4000 *
¢ 1,000 M — ", & o
3000 | . .
2000 ¢ s00 |
1,000
0 L L L L L L L L L L 0 % L L L L L L L L L
S40 S50 S60 H25 H26 H27 H28 H29 H30 R1 R2 S40 S50 S60 H25 H26 H27 H28 H29 H30 R1 R2
(F3/ke) T (M/ke) ADEf=IT
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1,000
800 o * e 00 |
600 - 600 |- . o
400 | ‘/‘___Q———‘—‘—‘—H 400 |
200 200 | ‘_F'W
0 L L L L L L L L L L 0 | | | | | | | | |
S40 S50 S60 H25 H26 H27 H28 H29 H30 R1 R2 S40 S50 S60 H25 H26 H27 H28 H29 H30 Ri R2
(F/kg) Vot=I+ (H/ke) SHLOHL
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800 o ¢ 800
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0 L L L L L L L L L L 0 L L L L L 1 1 L L
S40 S50 S60 H25 H26 H27 H28 H29 H30 R1 R2 S40 S50 S60 H25 H26 H27 H28 H29 H30 Ri1 R2
(F/ke) EIRY LS (F/ke) T X
1,000 1,000
800 0——*'\0/’///\ 800
600 | 600 | — g e+
400 400 |
200 200 |
0 L L L L L L L L L L 0 1 1 1 1 1 L L 1 1
S40 S50 S60 H25 H26 H27 H28 H29 H30 R1 R2 S40 S50 S60 H25 H26 H27 H28 H29 H30 R1 R2
(M/kg) FDOFI+
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60,000
40,000
20,000
N *
0 & L L L L L L L L L L
S40 S50 S60 H25 H26 H27 H28 H29 H30 R1 R2




ZEOQOLNDEFRAMEYERMEBEOHRE @mihos~45i2E)

IHE  Bf% S40 S50  S60 H25  H26  H27 H28  H29 H30  RI R2
EHOS Fkg 41 82 134 191 195 191 191 256 203 244 201 AEEHEEE
HEUV HM/kg 1,153 4,476 7,199 6212 7,353 6,502 5,967 6,192 8,946 7,231 5,710 FRTPREEMS

FEYMEEARE)

$55L H/ke

4,760 24,650 26,330 46,920 47,520 51,156 52,043 52,063 55,530 56,995 56,995 AEEHEEIE

¥t Ert B/R

353 1,950 2,133 1,608 1,608 1,608 1,608 3,821 3,300 3,400 3,400 ENEiEi

W A4 M/m?

29,867 110,460 85,000 80,000 80,000 80,000 80,000 80,000 80,000 80,000 80,000 H=#ffitk

R (2% F/ke

27 92 128 166 184 185 176 176 179 208 208 A EHHFAmE

BH HET

(M /kg) =l (M /kg) Hay
300 10,000
250 8,000 L
200 | i
150 | 6,000 T+
I ¢ 4000 | i
100 .
50 o 2000 | o
0 e R A 0 e e
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(M/ke) £55L (A/30) Kkt
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